Quiz Review -

Quadratics = Characteristics and Transformations

Identify the following characteristics when in standard form:
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2. y=x'+8x+6
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1dentify the following characteristics when in intercept form:

4, y={x+7){x+12)

Direction: 3
vertex: {~ 3.5, ~lo. 25:3)
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6. y=3{x+8Hx-9)
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Vertex:

ADS: ¥ =
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identify the following characteristics when in vertex form:

7. y=3{x+5)*-8

Direction; i
Vertex: ( 3
AODS: ¥ = ‘*“_;}
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Transformations:

10. y=3(x+2)2-8

Direction: m{)
Vertex: (2,3 )

AOS: K = -2
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11, y=-%(x—4)+6
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Complete the Square convert the following to vertex form:
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12. y=-{x=5)*-15

Direction: {4 & L,\;, :/\3
vertex:m {5 ,~15 )
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vertex (-9 ,-58)
AOS K=—9



